Conic Sections Worksheet

1
Give an equation of the parabola with focus (1, 1) and directrix y = 3.  Then draw the curve with the focus and directrix. Ans: 
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2
Give an equation of the parabola passing through (0, −2) that has vertex (−1, 2) and axis y = 2.  Draw the curve with its focus and directrix. Ans: 
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3
Give an equation of the ellipse that has foci F1(0,2) and F2(4,2) and vertices V1(−1, 2) and 

V2 (5, 2).  Then sketch it with its foci. . Ans: 
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4
Sketch the hyperbola x2​ – 9y2 – 4x – 18y = 14.  Show its foci and asymptotes.


Ans: 
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5
Find an equation for the parabola with axis of symmetry x = 0 that passes through the points  (1, 4) and (2, 7).


Ans: 
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6
Find an equation for the hyperbola with foci (3, 0) and (–3, 0) and asymptotes y = 
[image: image6.wmf]±

x.


Ans: 
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7
Find an equation for the hyperbola with foci (0, 5) and (0, –5) and asymptotes y =
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Ans: 
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8
Find the area of the region inside the ellipse
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. Ans: 
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9
A headlight reflector has parabolic cross sections and a circular face.  The face has a radius of three inches and the reflector is three inches deep.  What is its volume? Ans: 
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10       What is the eccentricity of the ellipse
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?  Sketch it with its foci.


Ans: 
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11
What is the eccentricity of the hyperbola x2 – y2 = 1?  Where are its foci?  Sketch the curve with the foci.


Ans; 
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12
Find equations for and sketch the conic sections with foci at (–1, 0) and (1, 0) in an xy-plane with eccentricities


(a)
e = 
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Ans: 
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(b)
e = 3   




Ans: 
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13
Find the eccentricities of the conic sections


(a)
x2 + y2
= 1



Ans: 
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(b)
4x2 + y2 = 36



Ans: 
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(c)
x2 – 25y2 = 100


Ans: 
[image: image21.wmf]26/5

e

=


_1161070234.unknown

_1161071624.unknown

_1197792370.unknown

_1197801191.unknown

_1161072037.unknown

_1194073201.unknown

_1161072065.unknown

_1161071912.unknown

_1161070298.unknown

_1161071580.unknown

_1161070276.unknown

_1161069853.unknown

_1161070077.unknown

_1161070183.unknown

_1161070038.unknown

_1129121650.unknown

_1129123819.unknown

_1161069804.unknown

_1129526547.unknown

_1129121711.unknown

_1129121558.unknown

